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* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.290 8,903
* 18[;A|ZBhF RIFZMTEHEEEREE 0.570 29,600 16,872] 29,600 16,872 0.570| 16,872
* 19[;BI =B & R EEEREE 0570 A 24,200 13,794| 24,200 13,794 0.570 13,794
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 57,960 2,898 0 0 0.000 0
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* 18[BI=B1F RIFZMTEHEEEREE 0.440 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R EEEREE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 27,902 419 0 0 0.000 0
B 29,716 27,902 0.580] 16,112
B 1 1.0 XHY 29,716
EEANE 27,902
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* 168 E FEh RIFMTEHEEEREE 0.250[ A 40,000 10,000| 40,000 10,000 0.200 8,000
* 17[ B = e R EHEEEREE 0.410] A 30,700 12,587 30,700 12,587 0.200 6,140
* 18[BI=B1F RIFZMTEHEEEREE 0.410[ A 29,600 12,136] 29,600 12,136 0.200 5,920
* 19[;BI =B & R EEEREE 0.600[ A 24,200 14,520 24,200 14,520 0.600 14,520
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 49,243 2,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 49,243 739 0 0 0.000 0
B 52,444 49,243 1.200( 34,580
B fiff 1.0 XHY 52,444
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* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R ERAEHE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
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